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MATRIX INVERSES

,:aRecall that inverses are operations that "undo” each other. You are already familiar with many

~ of these, e.g..

The Additive Inverse ' EX: 4+(-4)=0

The Multiplicative Inverse EX: 3x==1

Powers and Roots

Graphs of Functions

A matrix has an inverse iff. ..
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The following matrices are inverses of each other, Verify by finding their product.
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To find the inverse of a 2 x 2 matrix A. .. 3 4 8 5
EX1 LetA [ 6} EX2Let A [ }
Step 1: Find the determinant of A*, -
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SOLVING SYSTEMS USING MATRIX INVERSES

In order to solve a matrix equation, we can left-multiply both sides of the equation by the

multiplicative inverse. A X - B
Solve the matrix equation E ;}X = E i]
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In order to solve a system of equations using a matrix inverse. . .

Step I: Rewrite the system in matrix form.

Step 2: Left-multiply both sides of the equation by the mulhphca‘rlve inverse of the matrix of

coefficients.
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Solving Matrix Equations Using an Inverse Name

o 1. How can we determine whether two given matrices are inverses of each other?
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2. Inorder for a matrix to have an inverse, what two criteria need to be met?
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Determine whether the given matrices are inverses of each other. Justify your answer.
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Rewrite the system as a matrix equation, then solve using afinverse,
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